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~ "Qffil ~ "GR. '(1G"llsi"" (>!qd?l wrR) ~.' ~ 3!R& ~
~~, llUIM~~1 ~1I'{1'1 qft ~ ~ ~ CPT ~q'(UI (310'10'2.011)

w. ~ cnT fClCl=(OI ~

1. ~mT~.~.m. ~ ~ ~.16064/-
2. . m-.=rr \JlCl=(1(1 130 "UllT
3. ~ -m 1''''1'11 25 fft~
4. RCllcrq=( 01 -.=rT
5. \J1 ,&;f) fi 1&i1'1 ~. 3,20,000/
6. ~q~~\if11T~ ~. 1,43,000/-
7. q)R~~3TR 01 (cnR ~ 3,00,000/ -)
8. 3HCllffl~ &iCf>I'1 \3ct1&i ~ ~ (~?f[Uf

~. 6,78,800/-)
9. 1/2, 3i IClIf11~ &iCf>I'1 \S1Ci4;f) tfror 1/2 ffiffil

(tfwp)
10. "+1'IY IC1 if ~ &iCf>1'1 ~ ?ftUT LR ~ (tct> ~

~. 7,51,000/-)
11. ~II ct I+-j ~ '\3lJ\Jf +ftt \j \Nl "1 -B ~

ClIq'{1l~ -~
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~S1~ ~i5Il(11 $J trlFf ~ 41'<'fI ~ $J, '<1\R44~
('t<td?l 'WlR) ~, ~ 3!Tllfif ~ ~Cffir 'tixlftOI,

l{'C4~a~1~1I'f1-=t qft T.R1 ~ ~ cpr ~qxol (31'~ .'2..0H·

w. ~. cpr RlCl\{OI XTftr

m ~q'<ld ~1. 380 mlf

2. ~ 430 mlf

~ qi\Slllcl~3. 1/2 ffiffil, 3.658 6crc~,<c. .

~ q) G ~ ~ -ij \iflTI Xlfir ~ ~. 1,55,000/-4.

5. ~ me.n-m -ij w=rr Xlftr ~. 9,28,790/-

~f~ff ~ ~. 57,600/-6.
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